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Jlo) =32 =2, gle)=2c+Fk wppib fo g= g o feefled, & e wWHUWUS SedoIs.
&iey fog=Bc—-2)2r+k)=32x+k)—2=60+3k—2

gof=(2r+k)3r—2)=2Br-2)+k=6x—4+k
fog =goJ aeré asnepssliulherens.
6z +3k—2=6z—4+%
4 2

2
6r— 6z +3k—k
2k
k

|| H II

l
flz) =2z +1 wHpwo glr) = ' —2 eaefled, [0 g LOHOWD go [ - BTETS.
Sio fog=(r+lat=2)=2"-2)+1=22"-3

gof=2z+ 12" -2)= (20 +1°-2=12" + 12 -1

ereorBeu Cuom sesorLsubleSlmhd foo=go f.

f:][-5.9] — R ersbim smiunens vlsbreugsionm) euemiy i mbasiivichAmng)
6z+1 —8=<z<2{(i) f3)+1(2 (i) f(7)—J(1)

flz)=182"—1 2<z<6 ;..o .+ 2f(=2)— £(6) :
(iit) 2F(4)+ f(8) (iv) ———L 1 &IeWI&.
Ji-4 6=2x<9 I f(4) + f(-2)
Siey f(-3I=[6(-3)+1]=—18+1==17 S =[6(1)+1]=6+1=7
f@)=[5(H-1]~20-1=19 f)=BM-4]1=21-4 =17
f@)=[5(16)—1] =80-1=79 F(8) = [3(8)—4] =24—-4=20

S =[6(-2)+1]==12+1=-11 £6) =[3(6)-4] = 18-4=14

N SR =—17+19=2 (1) A7)-f(1) = 17-7 =10
(iv) HED-S6) _2-1)-1a 214 36 _ 9

Gii) 2 £(D+[(8) =2[79] +20 =158+ 20 =178 f@+ D) 9+ - ®-11 "8 17

- —
T2/ 5/ a>1

feretim anfrunezigy f(i) = {2 o —l<r<l erenT UETWNESSIUIL TR

S ey o+ L\ 3Lu< -1

(1) £13) (i) £(0) (iid) ji—=1-5) (V) jZ) + J(—=2) & dwsuHimicor WAL S eDFIS @l
OS3)=3+2 =5 (@) fO=2 Gi) f-15)=-151=-25 @) fQ+f(2)=2+)+(-2-1)

=4-3=1
e +T, x<-2 o QueDTLDGSULLLITD,

emiyf:R R syerg f(z) ={c’ -2 -2<z<3, (@) f4) (@) f(-2) |
dr—2  x>3 (i) f(4) + 2f(1) (V) 7 — 374)
2y Awaun e HILESEnET SHT6T0Ts. f(=3)

Biel () f4)=34)-2=12-2=10 (i) f(-2)=(-2)-2=2=4-2=2

(i) f()=(Ay-2=1-2=-1 (iv) f3)=2(-3)+
f(4)+'rf(1)—| 2( 1)=8 SM)-3/(4) _-1-300) _

= =-31
J(=3) 1

t eretTm anuNsoIg) Gldebdliendled ( (') 2_emam QulILHleneOsMIWILD, UNTsianLled (F) 2 _oTer  asuliLihlenso emwiwb
Bemeonib@benyungb. Gugud sig /() = F ereoreusmywipisbsiuCLme,

(i) t(0) (u).tr,_‘_?.&_] . (iii1) #(—10) (@b, F = 2(.-' +32).

(iv) (") =212 s BsEwGurg C -6 wHiY 5

(v) agsbdweiv wHiyb unperai’ wiyb swwns BEHSED0 OUTRE AsulLBlene 9 Siiaunané SIS,

&iel ) 1o0)= (0)+12 32°F (i) 1(28) = 2 )+3"r S0.4+32=824°F  (iif) H(~10) = 10) A 32 =—18+432=14°F

() 1(C) = 212 26 BoedsLBung 212=?C+32 =C=100°C

(v) eesbdwsi wHiyb unretanL wiyb swwns Smésb sunws eeuliLfene

c=2€ 130 = sC=9C+160 =—4C=160
5 = C=440
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f{z)= 'T.J;U. glx) =3 —u eefled, fog =ygof ererug aflwn Gendloso.
Eiey ) X+6 B-¥)+6 9-x +6 x+6 9-x-3 6-x
(fog)=(5)B-0 === | (@o=0-9()=3-—=——=—

ere01Gey GumaesorLsuppiedlamha [0 g = go [.

flry=41" =1, g(x) =1+ r aesfléd, fog = go [ erebrugy sfwn Gendés.

(feg)=(4-1)(A+x)=4(1 +x) -1 - & NN P & e
LA Bl — A o 3 @of) =(1+x) (4! - 1)=1+4x2— 1 =45

garGen GunasrLeunmedlmhal fog=go f.

flz)y=2'—1 ererfled f0 fo[f ~@b areims.
giey (fofof) (x) =(x- PY¥ -1 -1) =(v - 1)((¥ -1)'-1) =(@-1)(x'-2¢) = (' -2¢) -1

GpenelLb 10 a5, 11 sl 12 6648 ... 24 6s.b eredrp ubs Seneyeien 15 ) &gl g 6 EUGUUTEUUTED &N ElghIRl& 6T
2 _atenen. @hs eUeTuIetoS e,rr&'lgbrémmm& Q&neioTh eTalsueTey LTLemU Seml & SisomisflEs (pigun?

S04 10 Qza5. 11 @5, 12 @55 ... 21 Qaib STEUTD LB DisTey6Ter |5 &I Qg GUGTITETNS HNMESMIS6T
QOTSHS0 LIl = 10°+ 11F+ 127+ .+ 28 = (P22 4304 424 — (1224 ...+ 9)
_ 24x25x49 9x10x19
6

= 4900 — 285 = 461508515

waed n Suwish eretorseflsin suib@himeflsn anbde 285 wHpID WwHed n Buwed eretorseflsor suimhiseeT Hn (bl
2025 erefled n—ulletr W&l @metors.
fiey  wod n Bwe asussllen afesnsslar amusd 285
nn+]) @a+D) _aes . (1)
6
(2)-g@ (1) ~uSédb SpHuiL. — M';U;ggg = 15(2n+1)=285 =2n+1=
adi =9

wae n Buwed ereousafledr HeriHafleir sn (héHsd
[MJ =2025 = MJ:@: n(n+1) =90 ...... 2)
2 ¢ 2

285
15

=19 =2n=19-1 =2n=18

I'+2' +3" +- evebim oniflen erdaemen e nussneTd salnemed sthdsd 14100 denLdEib?
Siey I'+2'+3 +...... & = 14400

R Y k(i.+1) 3 i » -
y \_| =14500 = — =120 = % +ik-240=0 = (k+18)(k-15)=:0 .. k=-16. k=15
2 4 i A’::jS
(2'-1" )——(- —3)+ (6" 5) -+ adp ng_.;rs»"‘ @l (1) = 2 mriyEs susey (1) 8 S_piiyel QuemIy
80 (hHED &I1600T &.
Sien i) (28— 17) + (1 = 3%) +(6' = §) + ... n &_mlIysET euemy (i) § 2_piliymer susmr

=22+ 46+ ..n 2 _nliyseT euemy)

54 <3 A S, =4(8%)+3(8Y)
—(’+3 +5°+ _.n o milnser euemr)

; =4(512) + 3
a2+ 3 w4 1) 3 3 §)2) +3(64)
ZJQ’ —,‘ +n =4 +3n =2048 + 192 = 2240
g z — B
0.4+ 044 +0.444 .. 7 2 QUUSET SUSHT Sn.(bHED &HIT600N &.
iy 0.4+ 0.44 +0.444 |- n e DIYSET U]
=i+£+ﬁ+ n o _MOUSET euemy =4 — 1 l+—I“+ L mIULSer }
10 100 1000 10 T 100 1000 | T SDUUSET GUGDD
;1[1+2+£+ . ]
9(10 " 100 1000~ --" T-DLuSSTENEDD]
3 (+1+1+....n L&t euemn )
_l(1-6)+{(-506)* (+~5o00) = W A
F oo 1 S_AISET QI | \10 " 100 " 1000
= b L |
A 1) (Mo) 58 =a.z 1
9 10 1_}1/0 =
4 ]
o300 )]
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-1 eer euenpupssiuGEDs. Sug, A4 ={24.6,10.12},

B=1[012450o& @nésd oungs oMy [m datembd Wwenpseis @Hss
(1) euflemad Gomyseflerr seooid (ii) silLsusmesor  (1ii) siby&@m UL  (iv) eueoIULLD
diey f(x)==-1 =2 @)=1-1=0 x=4=f@)=2-1=1 x=6=>f(6)=3-
2 x=10f(10)=5-1=4 x=12>f(12)=6-1=5
(i) euflemad Gamq mafleir ssoorb (iii) subube LLD . (iv) susmpuLLd

[ A— B aeém srjuners Jf(2) =

m-|i-q

£=1(2. 0). (4. 1), (6, 2). (10, 4), (12, 5)} A » »
i 1
(ii) &1 L auemesnor .
X 2 4 6 10 12 $ N L e
f(x) 2 1 5 o Y

A={L2.3.4} womo B {258 1L14} eeruer & ssomuser asiis. [ A— D ergmub emiy f(r) = 3z —1
sTE0TS QBMbSSELLL(bETen &, GeFnTllenen (i) siwbysar uLb (i) silLaenenr (iii) auflensé Gamgseflear semmbd

(i\.:) eueDILL LD Sdlwsuhpirs Giilde (1) sububegd uLb (iv) suumm.lu.p
Bie  4—{1234); B={2.5811,14}; f(x)= 3z -1 i1 B
JM)=31)-1=3-1=2; [f(2)=3(2)-1=6-1=35 1;—,—,-2‘-._
F(3) =3(3)—1=9-1=8; (1) =4@3)-1=12-1=11 T
(ii) sILLeuenem senwoly 3-r"/4 T
i 2 B 4 \r_&/ljﬁ
2 5 gl 11 (iii) euflem&s Comy safleor &evoTd I
F=1(1,2),(2,5),(3,8),(4,11)} PR
X= { 5 1 24l oo Y = {a,b,e] erention, ¥ dippha )1 &G Uersau@md £ peysafle) eremeu SNTUTEGL?
(DR -5,1), (1,a), (3,b)} (ii) R, = {(-5,b),(1,0), (3,a),(4,¢0)} (m)R (- Sa} (1,a), (3,0),(4,¢),(1,b)}
Sie| () R, =[(-5,a) (L), (3,b)) i 7\ J:
K, empunengy. sogemid 4 =X -é@ Y- Hips) Lp 8dem. [’ 37—' L
3
Gi) R, = {(-5,0), (L) (3. (4 )} o
R, @B eniun@b.smmeond N-uler susiaunh o nruseh @GT [ :“jj‘?:it;\
QO Hlod 2.6 V-6 2 dieang). \;,;i 1
X ¥
(iii) Ry = ((=5,a), (1,a), (3,b),(4,¢),(1,b)} ﬁ%jiw
R, @ snfunang. enpeond 1 € X -&@ Sstorch Hlpsd 2_masen Iﬂ"h
a €Y opoub b €Y eretr _etaTent. :;T /?_./'“

&b iy fepeog [(1) =21 — 3 ered euemywIpydsLILLLITED
(i) M b anesme. (i) [(2) = 0 sgboungs), = @é anssms. (i) (1) = r asléd 7 gé enss.
(iv) f{:r‘}az f(1 — »)ereofléh = @& snetors.
&iey (1)f(0);f‘1)=(‘3);(‘1) :% =-2 (ii) f(x)=r > 2r-3=y —S2-y=3 2x=3
(ii) fir)=0 =>2r—3=0 —2r=3 _>x=% (V) R)=1-x D2—3=1—x S2+x=1+3 43«—4:’;—-;-'-

A ererugy 8- el G emwmeunerr Bieb eresoiaerfledn sevond, B ereirug) S -g eflLé @emmeuner L& erstorseafledt seoornb
wHmd C sra?lug @pleoLluemL uan erettraafler sevond eresfled, (A1 B)x C' = (Ax )N (B x C) efluniée.
ffey A={1,23,4,56.7}, B={13.57},,C={2) .. AnB ={1.3,5.7)
(AnB)*C={(1,2),3,2).(5.2). (7.2)} ..(1)
AxC={(12), 2, 3 ), (3,2), 4.2), (3 2),(6.2).(7.2)}
BxC={(L,2),3,2),(5.2),(7,2)}
(AxC)n (B xC) = {(1.2). 3. 2). (5.2). (7.2)} -
(1) oo (2) -eSlmhal. (AN ) x (B mn; (AxBYN1(C x D) srebrugy sfiunféaiio L g,
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[N — Neetnpemunenrsy f(z) = 3r + 2, 2 € N erentevempum)éssiinlLmed
(i) 1,2,3 —er Hlpe 2 (Bhsemais snetois (i) 29 whHmid  53-ullsdt (T 2 (HbsEDETS HT600TH.
(iil) enmie0r 6uswem LS Si1600TE,
fiey /N — N eretip enfuneorsy f(x) = 3z + 2 o601 eusmywmSSILLGHET6TS).
(i) = 1easaled, f(1)=3(1)+2=5 r—= 2 aefléd, f(2)=3(2)+2=8
x =3 eenfléd, f(3)=3(3)+2=11
1, 2, 3 —ulletr fliped 2 _pE&sT (WweomBu 5, 8, 11 sy@b.
(ii) 29-uledr weir & = ereufled, f(r) = 29. ereoT@eu Jo +2 =29 = Jo =2T =1 =9.
53-ufleor (wetr 2 = eveofled, f(x) = 53. ererBeu, 3r +2 =53 = 3z =51 = o = 17.
erso1@sy, 29 wHmd 5H53-ulledr (Wedr 2_HéEseT (PemnGW 9 wHMID 17 SyGLd.
(iii) N -uler AeciCGoumn 2 D sEsEGH SHeosoo biussdd aaaGan Hipd
2 _(hbme £_eiuTel. sTedrGe, [ 9 60TE QT NIBE@ EDTDNEDT STTUNELD.
[ -ufletr giemevor wAliuawmem g .
sidemsbd [ =(5,8,11, 14,17, ...| sseorg N -6tr 58 2 L seomongb. eranCey, [ o argy Gueeniy Seemev.
A={zeN|l<a<d}, B={aeW|0<z <2} woppio C = {r €N |z<3}eei®. A X (BUC) = (A XB)U (A X C)
Sio) A={reN|l<r<4} =28}, B={zeW|0<z<2}={01}, C={reN|z < 3}={12} afuniés.
BuC ={01}u{1,2} = {0,1.2}
Ax(BUC) =1{2,3} X{0,1,2} = {(2,0),(2,1),(2,2),(3,0),(3,1),(3,2)] ...(1)
Ax B = {2,3} X {0,1}] ={{230),(2,1),(3,0),(3,1)}
AxC = (2,3} X{1,2} ={(2,1),(2,2),(3,1),(3,2)}
(AxB)U(AxC) =1{(2,0),(2,1),(3,0),(3,1)} W 1{(2,1),(2,2),(3,1),(3,2)]}
= {(2,0),(2,1),(2.2),(3,0),(3,1).(3,2)} ..(2)
(1) o 2 -eSmiel. Ax(BUC)=(Ax B LUAx () eebrug sflunfésiu’L g .

A={r=N|l<rcd}, R={z eWI|0 <z <2} ohmud C = {r € N |7< 3} sairs. .-\x;zm(} = (Ax RN (A%C)
Siey A= {rch! 1f1<'}~—[’ 3l, B={ze@W |\<2 <2} =101}, C={reN|r<3)={12] muniss
BnC =401 {12} =41}

I
Ax(BNC) { 3y {1} = {(L1), (3,29} - (1)
Ax R {2 3} x (0,1} = {(2,0),(2.1),.13,().3,1) }
ARC=A2 Sty {Dak=—{{21) (223( (S0}
(AxB)N(AxC) {(2,0),(2,1), 11(])(%1i}”1{()1 (22).(3,1),(3,2)}
={(21),(31)} ...
(1) ommob (2) -eSigpibgl. Ax (B () = (A % B)M(AxC) eredrum sflung ssiu’e g).

A=1{5.6}, B={4.506}, C ={5,6,T}ereofled, AxA = (BxB)N(C =) eremsd ST (5.
ey A= {5,6}.B={4.5,6},C={5.6,7}
AxA={5.6} * (5.6} ={(5.5),(5.6),(6.5),(6.6)} ...( 1)
B¥B={4,5,6} *{4,5,6) = {(4,4). (4.5). (4.6). (5. 4). (5. 5). (5. 6). (6. ). (6. 5). (6. 6)}
CxC={56.7} = {5.6. 7} = {(5, 5), (5, 6). (5, 7), (6, 5), (6, 6),(6, 7). (7. 5), (% 6)i (7. T}
(B xB) (C =C) = {(5.5). (5. 6). (6. 5). (6. 6)}-(2)

(1) woHmb (2) -e0imh&l, AxA = (BxB)N(CxC) eenug sflungssiiuL &)
A={1,2,3}, B={2,3,5}, C={3,4}wpmd D= {1,3,5] erefied (AN C)x (BN D)= (AxB)n(C x D) erebrugy
£_e00T6mLOWINT 6Te0T (BaTHlésayD. .

Sifey A={1,2,3},B={2.3,5}, C={3,4),D={1,3,5)
AnC={3}, BnD={3.5}
(AnC)x BN D)={(3.3).3.5)} --(1)
B={(1. 2), (1. 3), (1, 5). (2, 2). (2, 3). (2. 5). (3. 2). (3. 3). (3. 5)}
CxD={(3.1),(3,3). (3.5). (4, 1), (4. 3), (4, 5)}
A*B)n(C*D) =1{(3,3).(3.5)} .({2)
(1) wHmud (2) -eblmb&. (ANC)x(BND)=(AxB)N(C'x D) eredrug sflung detiun L g
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-
A erebrug) 5-g2 69L& @ swmeureor Bwied erstorassifledt eouid, 1 sreiiug) 8 - 6flLé @empeunesr s ersioraeilein &eoorb
wHmid C' ereTug @rleoLliusnL Lusn serseflar seoomb aafle), Ax (B (') = (A x B) — (Ax () efluniés.
Siey B-C ={1.3.5.7)

AxB-C) ={(1,1),(1,3).(L5).(1,7).(1).(2,3). 25 2.7),
(3.1).(3.3).(3.5). (3. 7).(4. 1).(4.3). (4. 5). 4. 7).
(5.1).(5.3). (5. 5). (5. 7). (6. 1). (6, 3). (6, 5). (6, 7).,
(7.1).(7.3).(7.5). (7.7).} ..(1)
AxB ={(1,1),(1,3). (1.5). (1,7). (2 1). (2.3), 2. 5). (2. 7),
(3.1).(3.3).(3.5). 3. 7). (4. 1). (4. 3). (4. 5). 4. 7),
(5,1 (5,3).(5, 35).(5 7). (6, 1), (6, 3). (6. 5), (6, 7,
(7. 1), (7.3), (7. 5), (7. D).}
AXC ={(1.2),(2.2).(3,2).(4,2).(52).(6. 2). (7. 2)}
(Ax B)—(AxC)={(L, 1),(L 3), (L, 5). (1. 7). (2. 1). (2, 3), @. 5). (2. 7).
(3. 10.63,3).(3.5).(3.7).(4. 1), (4. 3). (4. 5). 4. D),
(5. 1).(5,3), (5.5). (5.7).(6.1). (6, 3), (6.5). (6. 7).
7. DR[Fe7. 5). (7.7).} ..(2)
(1) wHob (2) -eblmihgl, A (B~ C)=(AxB)-(A*C) eredrugy) sflunibsliulL g).

A={zeW|z<2} , B={rel|l<z <4} vppip C = {3.5} erefled, A*(BuUC)=(AxB)u(AxC) eflunide.
&iiey BUC ={2,3,4,5)
L AxBUC) = {(0, 2), (0. 3). (0, 4, (0, 5),(1,2). (1.3). (L4, (1.5} ...( 1)
A*B = {(0. 2). (0. 3). (0. 4). (1.2).(1.3). (1. 4)}
AxC ={(0,3),(0,5)(1.3), (1,5}
A(A*BYU@AXC)  ={(0,2). (0.3). (0,4):(0.5) (1, 2). (1,3), (L, 4), (L, )} -..(2)
(1) whoub (2) -el®HE. A < (B U C)= (A« B)w (A * C)erarug sflunféaiiulL g

A={reW[2<2} ,B={zreN|l<2<4] ppmpp C ={3.5} aefld, Ax (BN C)=(AxB)n(AxC) eflunfés.
5&'&] BN C ={3}
s AY@Aa0={(0,3),(1,3)} ...(1)
AxB = {(0, 2}, (0. 3). (0, 4}, (1. 2),(1.3), (1-4}}
AXC = {(0,3},0,5). (1.3). (1, 5))
s (AxB)A(AxT)={(5,3)(L )} ...(2)
(1) wirud (2) -emiral, A < (B n C)=(A * B) N (A.x C)eraimug sflurgsslult gy.

A={rcWz<2},B={2cN|l<r<4) ppmws O {15} zaflé (AUB) <C—(A+«C)U(B « C) Fiunfés,
Siey AuUB =1{0.1.23,4}
o (AUB) > C = {(0,3), (0, 5). (1, 3), (L 5), (2.3). (2, 5). (3, 3), (3:5). (4. 3). (4, 5)) - 1)
AxC ={(0,3).(0.5). (L3). (L 5)}
BxC ={(2,3).25).(3.3).3.9. 4 3.4 5)
& (AxC)u (B = C) = {(0,3), (0,5), (1,3),(L, 5), (2,3), (2. 5), (3, 3), (3, 5). (4, 3), (4. 5)} .. .(2)
(1) wHob (2) -efmhal (A B) x C=(Ax C)u (B » C)arerug sflunidalulL g
easnpesiulL enjy f:x — 2 —br +6,eefled, (1) 7(—1) (ii) f(2a) (iii) f(2)  (iv) f(_r— 1) wSiSos.
fie) [fixoX-5x+6 Df() =-5r+6
(i) f=1) =(=1P=5-1)+6 =1+5+6 =12 (i) f24) =(Q2ay-5(2a)+6 =4a*-10a+ 6
(i) f2) =2°-5(2)+6=4-10+6 =0 (VAx—1) =@-1F-5(x-1)+6=x'-2r+1-5¢r+5+6 =x*_Tr+12

flx) = 2*, g(z) =2z wpmd h(z) =z + 4 erefled, (fog)oh= fo(goh) eer Hpisys.
Sirey (fog) =(2°)(2x) = (2x) = 4%’
“(fogoh) =(4)(x +4) =4 (x+4ay ..(1)
oM =2)(x+49)=2(x+4) =2x+8
S (fogoM=(x*)(2x+8)=(2¢+8) = (2 (x+ 4)) =4(x +4) ...(2)
(1) wppud (2) -eblapbal, (f cg)oh = fo(go h)erebrug Emunﬁ&saﬂmlt_gu.

flz) =z —4,9(x) = 2* womuo h(r) = 3rv — Hereufled, (fog)oh = fo(goh) aer Blpieys.
Siey (fog) <(x—4)(1")=x—-4
“((fog)oh)=(x-4)(3x~5) =(3x- 574 ..(1)
(goh)=(2)B3x-5) =(3x-5)
s (fogol)=(x—4)(3x-5) =(Bx-52-4 ...(2)
(1) opopd (2) -6k, (f o g) o h = f o (g o herstrug sflunfésiiucL g
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flz)=22+3, g(z) =1—22 wHEd h(r)=

3r erevflldd, fo(goh)=
Eiey flz)=25+3, gla)=1

(fog)oh aen Himieys.

2z, h(z) =3z
(fo)=2c+31-2r)=2(1-27)+3=2—dz+3=50—4x

(fog)oh=(5—42)(8z) =5—-4(32) =5—12¢ --(1)
(goh)=(1-2¢)(3r)=1—2(3x) = 1 =Gz

folgoh)=(2z +3) (1l —6r)= 21— Gz)+3=2-1924+3 =5

(1) wihpeb (2) -eSlapibgl (fcg)oh=folgoh)
f@=3z+1 , gla)=a+3
Siey

192 ....(2)

sydueney @m emiyser. Guogud 9(7) = f99(2) aefled » —gé sreus.
affiey=(x+ 3)3x+1)3x+1) | foolx) = G +1)(B3x +1)Mx+ 3)

=(z+ 3)[ 332 +1)+1] =3z +1)[ (z+ 3) + 3]

=(x + 3)(9z+ 4) =(3z+1)z+6)

=] (92 + 4) + 3] =[3{z+6)+1]

=9c+ 7 =3z+ 19

gfftz) = fog(a) ersm@en, 9+ 7 = 3z + 19

9z —3x=19 -7

Gx =12

g=2,

|
Jlz)=2z—-1, g(z) ZJ—'-ETﬁIﬂEJ fog=ygof=ur erennéd snips.
(e

2y go)- [T"']](A}\,
2
2x-1+1
=:( i ] x+lsL=% = =%

)
. 2

~Jeg=gef=x

flz) =32 +2 glr) =6z — k spfweney @@ smjysea. [0g = go [ asfled k-uler wilenLs HTes.
Siey (fo@)=(go0 )
(3x + 2)(6x — k)= (6x - K)(3x + 2)
A6y -K)+2=6(3x +2) -k
18x—3k+2=1R%+ 12 -k
Th+2=12 k 1o
26=10 —k=—=_-5

5 o

f(@) =22k glo) =4z | 9 Buewes B, sniuser [og = g0/ aelle) k-ule AHLDLE aneiis.

i O (fog)=(z0;)
@x—k)(dx + 5)={4x + 53(2x - &}

2(dx+5) -k =4(2x—k)+5
8v+ 10—k =8r—4k+5

10k =—4k+5

—k+4k =5-10
%k =-5 = L-:-.;

flz) = 2, glr) = 3z wHob hir) =z —2 esvlled, (fogloh = fo(goh) erenr Hneys.
Siey f() =+, g*¥)=3x h(x)=x-2
(fo ) =(x)(3x) = (3x) = N

(goh) =(3x)(x-2)=3 (x—2)=3x-6
(fog)oh) =(9¥)x-2)=9 (x-2¢ — (1)

fo(goM=(x)(3x-6)=(3x-6) =(B-2) =9(x- 2 —(2)
(1) wpgub (2) -O@hE (fog) o h=fo(goh).

-9
gniy flommuo g aydlwenen f(r) = b + 8; glz) = ; ereufled,

(i) gg[%] -uilen wHllemus anevore. (ii) ¢f(r)-g eraflw eugeled srREIs.
T

v—2 x-2-6 (ii) Uf':-f'l=[¥]{6x+8)
i) 8g(x) :[LZJ[Y%Z] =( 3 _z]zl ]z[r;BJ s ol

3
= =2x+2=2(r+1
3 3 - (r+1)

L)
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yserdlpemid (a6 AsusTafladlpemo suenT 2 ateT euliumblen 6o seflsi sn haed 15°C
fat2d) +fat3d t(atidd) =18
= 304+9d=18 = 3d+9=18 = 6d=18 = d=3 Soa==3

eh g B saflslt eeuliuflemer —3°C, 0°C, 3°C, 6°C, 9° C

B salhd esnLiauflensulen 6-eug whpd S-sug & piseilsr efldlan 79 srefled. 0-susy wHmD 13-6ug 2 muiysefler
el HlFHD Smetors. ; .2
A a+3 7

] Lo o =— 5d =7 Ig= e
£a€q %9 PwE T = Dg+45d=Ta+49d = 2a=4d = aq=2d

ol _a+8d _ 2d+8d _104 5 . _5. o
., a+l2d  2d+12d 14d — 7 B 7
QB slbs esrLiaflensulisd SbsHs0E5 HNeG 2 nUSaler sahse 28 LHMID SieuDMIET ISs RS0 s b
276. S MHNETE 6TE00TS WS SIS,

Siey sal bd GBTLTauflensuils) DeDLES DibESMLES BTG aemsd (a—3d), (a —d),(a | d) wHnd (a + 3d)
et &Ml &afledr gnhaed 25 a—3d+a—d+a+d+a+3d=28
la = 28

a= i
siuprer auissnuseafler snpsed 276 (o —3d)' + (a —d)’ +(a +d)" + (a = 3d)" = 276.
af —Gad +94° + a0 =2ad + d* +0° + 2ad + d* + " + Gnd +94&° = 276
4a’+ 20d°=276 —eD@hm 4(7)%+ 204°= 276
d =4 -e0mhHal d = +2
¢ =7 d=2 asfie, 1,5 9 Lbgb 13.
a=7, d=-2 aefléb, 13, U, 5 Hmyd 1.

S s gGetellLb 2 etar 2207 g Sl (bd QBT auficnswied semWD epeirm unshsamasl UfSas FHoTH cpeirm|
GHMESEHHGID AENbLES eligpollerny. seuprle B &rlw asnensseflar OuEssDUeT 1623 @G,
GEUCEUN(H HIOHREDGUD UMD OFTensWlensind: GTec s.
i snies esnifuflmstld o d,aa+d Ganens SEoWLWYD
(ac—d) tatiatd =207
3a =207
=03
Bur A Ggnessmaaflstt QUIRGSDLIDET T4623
(a-d) a=4623
(65 —d) 69=4623
3 d: 2 - - -
PeublauNd GWHOMD OUDID EBTemsd (69 —2), 769, (69 + 2). That is, 767, 769 WHIYD T71

mmm@um

\

Qa5 ﬁ)

LoDt )

k ~ \ Wuut-uum B eiernan |
k =
Giemald o derog, Gped s b dggad
ABDUL MUNAN M.SC.,B.ED., Buirg Salmeg e mugyb|
JAYANKONDAM
ARIYALUR DT
CELL: 9541053797

YOUTUBE: BIGIL MATHS
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p
S =(@+y)+(& +oy+y)+ @ + 2y +ay +y')+n e plyser ueny seufled
(-1 v -1
=1 y—1
i) -5, =@+ @+ HE - Fon n o_pilyse suspy
= (-t xt+ n Lmjﬁl.{ﬁsh suem ) — (v +y +y'- . n Lmjﬂ[_lﬁg'] susmI )

(x—y)S, =

sre0r [Rlmiey .

[ a=x.r=x&a=y,r=y --§ =a.l _11]

*(x"-1) X ¥ (" -1)

x-1 y-1

S (x=»8, =

ST SGH HMeNG HUUTSERSES SUSHLD aRHHDNT. CLYID HUTEH HEOLTEEDET JEUTSHET HELCIEUT([HEUTHD
MIENES Gleueu@aum) He00TLI &EhHHE & SIS STIQHITDID wHNID BHsé OsWEHIWEMDENILISH OSTLIHOTNID & DEADIT.
Bhes aswswsnn OSTLIFALNG BHOLOUDIHOIMS. G BRSHBHHNET Groey T2 aafl 5 Hensmer euany
Sl HHSET IEILAISHE S4FHD OONSHE O1F DEDEUSH SITEO0TS.

STQ 4.16.64, ... 8 FEODSHT QUEDT BHigFRISHT
BB SUBSHHDHGNET Aamey T2
Bonssd OF6Y (4= 2)+ (16 % 2)+ (64 % 2) +........8 FenessT susng s Hiuser
8§+32+-28+ ... 8 HemE&ET QUeD] &lgShiseT &
GLUHESE cigTLTeuflems =8, r=4 n=8 S =a. 2 _ll
’—
451 63535
S*;-—-S.—3 =8x 5 =8x 21845 =¥174760
5+ 5 1 555 + .- erettm QBT Feuflensullsd (o n 2 milsefldr GahsHed e s.
e 5+55+555+ n o giysdr ey = 5[1+11+111+ _n o_giyssr euog)
= ﬁ[‘] + 99+ 999 + i o miyser suswy |
- n —
5 S, =a =1
= EI_HI] = 1)+ (100 =-1) =500 — }) + «-n 2_pumd” aeng) '
. L i
5 . . s 1B «  Eriodot —-1) 0ot -1 anm
== — {10+ 100 -+ 1000 + - -7 2_mEnj&sn euemi; \—n) = ot = A N T A
0! - S [T MEY 81 )

a, b, ¢ sTETLIEN QB Sl s AarLTeflacsullé: @ an snermn) 2, AhEE & MUILSLTODMNID 7, Y, 2 Fevuar &
umES OFnLFeuensuiler aparm GLISGLSS e niusst aeafled ' xy < =1 aer flneys.
g6y a, b, c eTedTUeN QD sl (b SSTLIT euflemeulled 2_een cPETD HMbSHDHSS & NS —a,a+d a+2d, ...
& Y, 2 STETUSHT QB ALGAG GHM.Tausnaulsr apsim SbssbSS 2 MIILSET — X X1, ..
MRy st = % (P % (Pt =0 % X M= X 0= |

S LGEGS agnLfeuflemsuller 0-sug 2_mytn) 32305 whHmb 6-eug 2 miiy 1215 srenfllsd, 12-eug 2_nilsmus Snetors.
Siey 1, =32805, £,=1215,1,=? 4. r5=32805 (1)
a.r=1215...(2)

. g . 5
FoeTun (1) 8 (2) SH UGES b 00 = =27 = r=3

1215
1215
Ol OrHuL = r=3 = ax3 =1215 > ax243=1215 =a=_ = =a=$
3

S w—} “ u
t,=ar""= s ty=aa" =5x3!

R0 UBESS asTeiaflsullar 2155065 apan emuuseaflar aumesnHuman 343 LHMI Sanrear

, - . " . . - . (
Fn(hHED % areofléh . Sibs cpTm 2 ML SENETS SIS, 2 mi'iisaflel s bHe = ﬂ
£i6) 2658056 apern £ My &en ;—l a, ar eTe e &S QsnenGeaund ”{1 o 91

Lk —1 =

apsiimy 2 miiysefler eumbsnHusoer = 343 r P 3

E){ a > ar =343 T[M _E]_l.
r ﬂ.i _ ?:i é] L] a = T \ C 3
lbre @!_?QI - (3r—1(r—-3)=0
a=T, r=23 erenfled. B&6emEULLINEDT . Oyser —, 7, 21. " 1
B e 3 r=3&lmg.jr=§
(]

T, r= l ersofleh, Gomsmeuwinent @psiim) & munyaser2 1,7, —.

a =

=
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300-6@0 600-66Db BemLBuw T-He suGUOGD SsneHs Bwe oeioroalls snbsed GN6HIS.

£ra) 300-6@b 600-5@0 BB T-g6 auGLLD Bue sersafler samzed 301+ 308 + 315+ - —595.
(wze & iy a = 301; Ourgy efsHwnad d = 7; sswLd £ puiy [ = 595,

I—a ﬁE]ﬁ—:i(][]._l__j,;

A R =
|

5, = Zla+1], aemusms 5, %{:sm +595)— 19264,

un asmellgisier siGaeEpde 1 waed 49 ey asnfsdunssd ssellobon suphGlULbsTEg. OdFbdledler
flinhe wetemsns £ ¢en  sfihaafldr asalabamsalls sl hd AsTamaLnas aabhelsr efilghHE
u‘la'n.mrgsnas o_siren efimaailst assladamnssle &l biHesnemeascs swb sl asbdldar sfl b asalmbsssmss
&IT 60T 5.
Sirey cendlels el sscllian T erers.
seoorddleug, 14+24+3+ -+ (z—1) =(z+1)+(@+2)+--+49
1424 3% .. 4 (z-1) -|1+ 2+ 3+ 49| -1+ 243+

I| n
= -1)] = [1+rm]—5|1+:] 51_2[“4]
gr—-1) 4E)x5(l z(z +1)

2y~ 2 2

o’ S 2450 - 22— 2
27 = 2450
¥ =1295

T = 35

aan@al, eamhSleller 6l (bhd BHMeEHD 35 2 @ih.

QM & 06d esr jarflosuldr 13-aus 2 miy 3 wimb wse 13 e plusels enpse 234 sefle, amlbd
egnLiisufleosuien Qung sligHwnaid whHmih (psed 21 2 nsafe sn (bS5 &HTes.

gie| 13-aug o mi =3 ceausned, £ a 124 =5 (1)
Wwsed 13 2 piysailed tabsd — 234 eebiLgned S, = e Ya +12d) == 234 20+ 12d =36 . .()
. 3 G -!'——-_"_—--\
swerunb&eT (1) wpmibd (7) g8 S0és mrio Aumiews. ¢ = 33, == :1—1 g E'gﬂ +(n--1)d) >
\ - > 2

-
— .~

ey, QLT eSS LINED — .
L) .. l)
~ A3 @-) x[-‘” — 21166 — 50 = 168.
2 2 2

=

Wsed 21 2 milsafler sa®ae S,

1+54+9+.. eaam easmfle eafpmer 2 nUusaensd Gnllgermd snbge 190 demLdagn?
Siey 8 =190. Wwaed 2 My a — 1. eung ellgHlwned d =5 -1 =4.
Fa s eanuieuflensullsr wae n 2 niysaflar s s
n "
—[2a +(n—1)d] =190

—[Jxl+(n—1 x 4] =190
n[dn — 2] = 380
2" —n—190 =0
(rn—10)(2n +19) =0

19
syeomed n = 10 geemenfled n = - = eTebTLIg| QUNIHHESTSEI.

em Galjsrosde JShsadpsmn wWsed asamalsdpsmw g emlguiar Osulufane kb
agnLreaufleansuie 2 ereneor. Hlrusst &lpemo (PFO USETSaL auenT E_dlen euliublanaefler &.hsed 0°C
WHMID YHeELpemio (&6 CleuaTeflSSpeny susmy & _ereT euliLhlenen &sfledr sa bged 1S °C ereufled. @b &l mrLserflso
G eulUflena MmaTE &HTU6E.
Siey Huse1dlpenio (P56 GausTalladipsny  eueny 2m uish aeuliuflene &al bdasnLjauflsnsuie o_deTeo.

aatdatlda+t3datad

Hiusar Hsmo (o UHeTdpsno euenr 2_eten eleuliflaneserlsr s msed 0°C

atfatd +fat2d)=0

3a+3d=0

a+td=(
a=—d
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5.8.5...5 eemer m GeuauGaup smlind OsnLiauflnsseisr » & plusefld shaonED. WHE
e _miiyser 12.3,...m womw urgs elsSwunsmsest L15,....2m—-1) wepBu demwpamed, BiEs

smlpd Osni adlwsted S +8, +8, ++8 = l) mn(mn + 1) erer Hlapilés.
Bie 1¥ AP = a=1 d=1 :=S.='/‘/2[3+("—1)11 i A.P:-:;’ a=%:d=3 m®" AP .=a=md=2m-1
- % [m+1] =35, =% [4+(n=1) 3] =5 =% [2m4 (n-1) 2m-1)]
=1/ [3n+1] =1 [@m=1n+1]

.5'1 -+ 5'-, + ot _5'_ = ;‘-é [m (mn+ ])] = yz mn (mn +1)

[a—B 3a—2b 5a-3b
S -

+---12 n_g;m:qash] e160Tm EIBMLl6lT Hn (hHaD SHNE00TS.
a+b a+b a+b

$yey a-b 3a-2b Sa-3b o 12| fa—=b) 2a—b) n
(.i+b+ a+b + u+h l’"']?— Lm."—'—lam 52:?|:2[mJ+ll[ ﬂ.+bJ:| ['.'S“:E[zﬂ'l‘(”—l)d]]
. . a—l . . 2a-b 6
2 =——. @ a1l = = -
(WP&HBD 2_Mmirn| b un &l &éHlwinsn — _n+b[24ﬂ 135]

semsnssfiieomsd sLLOUCL GG UgsEsLge awrgsh 30 ugslpser o darar. &SPl LYss L SENLUILSDE
100 esmasnhser EsameulLuGSns. SibHHGHHS LSS (HhSE SDOLUUSHE (WhHenswLyEslenail  Sretors
FerhiB Do GsnDeUTHE Goenatubdng. (i) e Ffuigidar ugsslanl SWLILSHE 6 SHEDT (EMHENHEE GHemeu?
(ii) LS b&eT WIYEUFID SEMIDUILISIIE 6T S EmenT 61&Th M HaT BHeme?
09| salns osmLiaflens

100,98, 96,94, ... 30 LBl khEET  a=100,d=-2,n=30
(1) e_&Fdlliguemen LIYHEL DL DEDWUILSDSE 61 MhiEHEeT

t =a+(n-1)d = h, =at+29d =100+29(-2) =100-58 =42

(i) LB GbSET (PIQAUSHID DEDWLILSD S 6157 S &eT
=5 _gln‘-"f‘IJ = S_‘n=¥(100+--121 =15x142 = 2130

n

5,.5, 8, srétuent (PDGLL QW Fal®bs aFil.Jeulleawied (P& n. 2n. 3n _niiseafler tahsn SheD.
S, =S, - 5,) een Bpsus.
Sﬂ'm $-|=H‘ 33=ﬂ+ﬂ+d::a+d

.;_:-Sl‘—' 2a+d—ﬂ:.ﬂ+d' :‘3(83'_51);3l'+3'f=*|:5 ...(]) stz'a'_ﬂ+d+a+:d=3ff+3d '”(?)

) whpw (2) -elmha S — (S, —5))
N sl b asnjaflsmsuisn 104-aug 2 nin) wHmIb 4-sug 2 niisaT (peonGur 125
wHmb 0. si56srLTarflensule (wse 35 & muuseilar sa:Fe snams,
Siey t,-125, 1,=0 =5 o 8, =" [2a+(n—Dd]
1 4 == 4
a+103d =125 a+3(%) =0 8 =3% [ 194+ 64 (%)]

at+ 3d = 0 = a+l% . :”=_]% =3% [—1%+_8%]

1004 = 125
= 35 vi3s _ 1225 > P
//2 =— = 6125

SO GHUILL 65TLHSN (Wee ‘n 2 MIISETET Snbse) 21° —3n eTsfle), S QO Fal bd asniiafsms aer Hapibs.
$i6y s,=2-3n n=1>S5=2-3=—1 n=285=24)-3(2)=8-6=2
“h=§=a=-1 §=2 = Ltt=2=-1=2=3 4,=3
a=—1.d=4
L2 =3 Qb s b L feuflems
602-&@b 902-5610 BewLGw 4 gyed euGULNS Buwied eTei0IS6T 60 n (bBHE) &IT600TsH.

Sy a=603.d=1.71-901 a=604. d—4. 1-900 4 8y6b UGBLLTES Buwied
s gl 901-603 _  _ g1 =2 000—604 . 296 TSI Fo.(bBED
BR=g ) = ool e g =0 =1224848 — 56400 = 168448
co N 299
“B,=plet] =~ SEOE=TRNE S, =D x1504 =75 X752 =56.400
= 224848 -2
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BemLbae001L5HHled &H6ur Sienewel 6(HellHe.
&iey

H ovhpo h  eerust  weonBw  saby wLHOL BeoLssasdlen o wgh aens.
Bauprel smywrd peepGw, L wHoud | ereirs.

R whHmub 7 syfuwsmen Bemi_baoetorHdlein BsLmihisaflen S ersfled, Bswl e storl &bleor
se0r Seney eTeiTugl B b salledr Heor BeTaysaTler alSHIINFD SHEID.

v =%f R’ H—%T "(H —h)
@&(Be;nsmrmmen ABC whmpib ADE sydwener eaigeieinssene.
aaGey, &5 Lssmaaflsn slldlghest s1L.  esmBeu, H—h r

H R

hR (1)
R—r
v =%TH H—li-u (H=h) = ZH{HZ r*) 4 .];r.r:h. =§;-"’H (R* —+*) 4 fs rh (1) gl LweTLmés)
. . . — .

=2 hR(R + r)+ Zrh
3 3
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(4,1),(4.2),(4.3).(4.4).(4.5),(4.6) (5.1).(5.2)5.3).(5.4)(5.5).(5.6) (6,1).(6,2).(6.3).(6.4).(6.5).(6.6)} n(S)=36
A syergy (P50 UsLWID & WHOU Bl oLl UL ee B ey - W& wHiysaflen & bpse S
A= {(2, 1).(2, 2)(2, 3.2, 4).(Z5).(2:6) B= {(2.6), (3, 5), (4, 4). (5. 3), (6, 2)}
(4, 1).(4. 2).(4. 3).(4, 4).(4. 5).(4. 6) n(B) =5, P(B) = 316
(6, 1).(6.2).(6, 3).}(86. 4),(6, 5).(6. 6)} AFB= {(2.6). (4. 4).(6.2)} , (A~B) =3 P(ARB) = %

=R« BN= o - P(AUB) =P(A) + P(B) — P(A~B)

185 3 20 _5

=t

36 36 36 36 °

S Oulkus 2 5 7 9 . 35 37 eredry) ereimamen @MiSsOULL FL(hEET £ _eTenen. SDSUMLLIL (PeDDUsen
ShBBILGIE G FLb B0 G 7 -6 DL Fa B N6D R G BT TeRERi 15 BHULLDSTET Hlo . DHima.s SNeIs.
&6y S={3.5.7.9.......35.37}. n(S)=18
A sywg (-erwLmsse A= {7.14,21, 28,25} n(A =5 -P(AF%
B SHTTH UST eTeBOrTRS B=(3.5.7.11, 13,17 190 23,29 31.37) nB)=1) . PME)= %
\

ArB={7} . n(ANB)=1 . P(AnB):ﬁ

o PAUB)=P(A)+P(B)-P(ALUB) = Syl l = 1 ==

fgnenr apeiTm) HTECNLIEISET QU (Pebn SHetor IuGdaTner. siflsu md 2 Y&seT JDDF GMDESUL D 2 HROO®ET
dlemLiugnETer Hls D&% e audh e,
Siey Solution : § - {(HHH), (HHT). (HTH). (THH), (HTT), (THT), (ITH), (ITT)} . n(S)=8
Agyarg sflsulad 2 yhser A= ((HHT), (HTH), (THH), (HTT), (THT). (ITH), (HHH)}  n(A)=7 . p(A]_%
B ayangl @sophsulsd 2 geveast B = {(HHH), (HHT), (HTH), (THH)} wB) =4 - PB)= 2
. ArB = ((HHH), (HHT), (HTH). (THH)} n(A~B) =4, P(A~B) = 3

- P(AUB) = P(A) + P(B) — P(A"B) :%4. .

SBauGES Wasny UUKSD SeLlushater BHishssea) % whHOEd GMLEET OUNTHSSHINBHDHEN 0T

SUUnHsD denLdsmnoe) Brmlushersr Hsbssay % o, Gogid GODHFULID IS G SUUBSD

&
AenLssloupushHanear Hspssa) $sra:ﬂdj. Bystorg gUUbSRISEHD Aanl ugnHenar HspsSe) ereier ?
&ie Asyargl flemeny @UUBSD SeoLlLgHDHETer = PE)=1-2
B &g Gpnisan Sunpsgeusnerer GUUBGSID &enidbsmos
B 6018 SPNUssT OuUNHSSIasDsTer UUBSID Henbs

P{A):%. P(E}:%, P(AUB)==

oo | w

~ P(An B)y=P(A)+ P(B)— P(A1UB)
73

3 5
=— —
7 280

q

3,3
8

<1 |t
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(om ouwisd 12 fo Bpiubssesd,  day Hpiubssesh £ e soamily WoDUd Qn W
Gaibososaiucdng. (1) sig Aaiy BpiubsTe BriusheTa Hepsssadb sTems
(1) 8 yFw Aeuny PoluBHgEeT silswulD eass Uearer, G Aawiy Hpiunhans G OsbILSD ST
Hlspsssursng (1)-uiéd suplulL Hepssanar Gure BoLiug aefld, r-6r wHllenarsd snes.
fiel @m souule 12 fo doiubssesd, = fHay Bplubgisend e eerer. n(S)=x+12 (v — feuwn| 12 — Heoi)

A syers Aauly Bplupsne #(D=x, P(d)=_Y5

8 yHw Asuly HpLiubgHiser plimpui]é: soeudHS Ulerenr, n(S)=rx+20

At £ J S (x+8)(x+12) =222 +40x = +20x+96=2x" +40x = —x*— 20x— 96+ 2%+ 40x =0

x+20  Ax+12 =17 +20x-96=0 = (x+2d)(x-4)=0
=(x+24)=0 or (x—4)=0 . .x=-24.1

4 1]
"16_4

By the problem, =2

Lx=4  ~P(A)

Buveoiw foner usenLaer Wwsopwuns @G Crrsdle e @LLiLobdaneor.
(i) Byetory ussnLsallgub CT (Wa H) HewLéas (i) (s wHisaflsr QLHESDHLIDET LIS 616t oo S&
feoLds (i) wa wHiysafier mopss usT aamaTMss HeoLbds (iv) s bFlysalar sapss 1-98 Bmés
HSD55 IS &T600TS
Siey S= {(1.1)(1.2).(1.3).(1.4).(1.5).(16) (2.1).(2:2)(2.3).(2.4).(2.5)42.6) (3.1).(3.2).(3.3).(3.4).(3.5)(3.6)
(4.1).(4.2)(14.3).(4.1).(1.5)(4.6) (5.1).(5.2)(5.3).(5.4).(5.5).(5.6) (6,1).(6.2).(6,3).(6,4).(6.5).(6.6)} n(s)= 36
(i)A 246018 Bredvih usemLsafllgid BT (1p& wH HewLds A= {(1,1). (2,2). (3, 3).(4,4),(5, 5), (6, 6)}
haws 1
n(A) =6 LP(A) = EZE

(ii) B syergl (& wdHlysallar OumesnLIssaT LS aamemmas deoLdés B ={(1.2).(1.3). (L.5). (2. 1). (3. 1). (5, 1)}
_ 6 1
n(B)=6 .nP(B):g-ﬁ:E
(iii) C =z (W WSS s bee LS feuamEs SenL 56
C={(1,1), 1, 2, (1, 4. (2, 1). (2. 3). (2, 5). (3.2)x(3.4). (4. 1). (4. 3). (5. 2). (5. 6). (65 1). (6. 5))
n(C)=18 [ & P(:_').—Bl(j.
(iv) D syea oo wLiyselldn sabs 1-3s Soes aD)=0 PO =0

apenpy Fovan pesorwimis:er (e ums QG GELHiflid aevm Gundarmar. (i) simardHil SenDWNsd Al ds
(i) @eopBoUab G Y, N sa: (i) sigisasd Qm assmp &S bs (v) adiou sd Rgecorp
WoesT HmLbs 5 AUQHOIHENET HHD5S5SHDETE ST E.
&iey  S- ((HHH), (HHT), (HTH), (HTT), (THH), (THT), (TTI), (TTT)}  n(S)=8 ;
(A syars siswandsib seoownss AeoLds A= ((HHH)} wA =1  ~P(4)= =

(ii) B et @smDBSULSAD G | BewLés B={(HHT). (HTH), (HTT),(THH), (THT), (TTH), (TTT)} n(B)=7 P(B)=
1

(iii) ¢ oy sflauisd o sooe HeoLds C= (HIT), (THT), (TTH),(TTT)] nC)=4 P(C‘}:%:;

on | =

(iv) D syers siflsulsd Bgeoen yissr SeoLds D= {(HHI), (NI, (ITT), (HTH), (THI), (THT). (TTH)}
nD)=7 P{D}=;

Speain® (peODWTET LsEDL&ET 2 HLLOUGD SuTwRsl, (P& wHliysaflsr GumasD 6 o5Gaun s
s wHinsafer elsHunsd 5 HesGar BErlushanear Hapssmad HT600TEH?

fiey S= [(1.1)(1.2).(1.3).(1.4),(1.5).(1.6) (2.1).(2.2).(2.3).(2.4).(2.5).(2.6) (3.1).(3.2).(3.3).(34).(3.5).(3.6)
(4.1),(4.2).(4,3),(4.1).(4.5),(4.6) (5.1).(5.2).(5.3).(5,4).(5.5).(3.6) (6,1).(6.2),(6,3),(6.4).(6.5)(6.6)} n(S)= 36

A yemg ps willyseflar Oumesse 6 A={(L. 6).(2.3).(3.2), (6, 1)} nA)=4 PA)= _:_5

B mpyeng ps wdiyseafler eigHunad 5 B={(6.1)] n®B)=1 P(B)=ﬁ

ANB={(6.1)] n(A~B)=1 P(A~B)=—
36 g 1 1 4 1
~P(AUB) = P(A) ~P(B)~P(A~B) =3¢ *+3c 3636 5
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52 &l waet AsNstoTL @b FLbd sl sBuy FLpsalldmphs Biman, Symemnfl wHoud  wibHIf &L (p@ein
Basiupderpenr. awenar & paalledipba G FLo sossiupdng. sig (i) Qub snLwsiorl (ii) gf @neof]
(iii) g soBue (iv) 5 eTelTm eTetor Bl@msdoTL. auniL FULch ShAwereuns Bmlushaner HlsnsH6USEneTH HTeHTs.
Siel 52 &L e O@TETIL QO FLopd sl suBup FLosalblmhs Sorer, Sonenfl whpid  wHAN FLpaer
H&H & IcH ) s0Tm 60T, n(S)=52-3=49 o 5
)A speng g@ evLvedar’ n(A)=13 P4 =5 (i) B sz @F Bunewfl  n(B)=3  ~FB)=75
10

(iii) C Sperg m sGuh n(C)=10 (13-3=10) "'P(C)=E

A |
(iv) D syeors 5 eredrm eretor Oasnesor eoni £l (D) =1 '.'P(DJZE

35 wretureui®en 2_sem &h SUGULTE 6ELEIEUMTHELHH@L | (WH 30 CUED[T ET6U0TSHET BI&N(hHSLILL(HETETE0T.
onenTeuf &EHéGLD WwrauelsErsgh 2 dar eidgwnearg 43 2Eb. auflns aenssn wnaeujsafle) OSMLhi&
wresmellseafled (g susmLAna. QuEsul auelldipha CaibhasbeEsUUGEDTT. 26Ul usm eaeemenr eauflens
STEU0TGUUTTBed FIHTEO0TL  (DMETaUIMAGEUT HVe0E LG eclctorenem euflems ereioTemdingsd  6&menor,

wrevoreilwiresBsun  sebeg Bl swL srettrenenn auflsme ersturentad G anetorLeurmaGaun BmUusnHsmer
HBDs&Eameus SNEU0TS.

gie 35 LOMETUTEUT ST 266N 85 SUGILID GQELAIBUTHEUGSGIL | (WH0D 35 D] TS  Q&M(hSSLILL (hETeTeT.
wreoeufsEEsSD neusisErdsEh 2 dar alfswoners 43 Sy
eI &EflerT  ereuTenlEame -~ - =35-20. wnesrellaaflen eTeuemflGens — % x35=15
A gpeng usT eetUTewsTY GUfleDE ETERTEUINSES GISTETOIL  LONETOTEU] SeT

7
A=1{23,57.11.13.19} . n(A)=7 P(AJ:_,‘—,;
B syeml us eredmemenor suflens GTevoTeUITES® GiemeduiL  omenorellEen
B={21,22, 24,25, 26,27, 28, 30, 32,33, 34,35} n(B)=12., - pB)= 12

25

C geoigy @rlenu eTetoremettr eufléms ETElUITINALS 61T e0orL euymasGeauT

17
C={2,4,6, 8,10, 12, 14, 1€, 1R 20,22 24 26 23, 3), 32,341 n(C) =17, ~PIC)= s
J 1
ANB={ }= nArB)=0 = PJANE)=:0, BNC={22, 24,26, 28 30,32, 34} . 2B()=7=>PBC)— s
1 : ]
CnA={] 2 n(CnA)= > P(CrA)= 5 P{A-BNC)=0
) ’ o _ , T A AT wl T\ R 284
P(AUBLT) = P(A) + P(B) +- P{{) - PIANB)  P(BC)-PLNA}- PATBIC) = —F—+ — 8—-—o"y0=—=_-

35735 '35 = 35 35 35 5

A, B, C eéuar gGsgib apen) Hlapéfsear. Gugib B delughanar flabssey A dr flabsasamean: Gure

BpuLmanasyd, C dsoLiugherea Hopsen A-g el apsrg wohsnseau 2 seer. Gogub P(ANB) = é
1 ¢

P(BNC)= i P(ANC) = bl P(AUBUC) = ]—:] P(ANBNC) = li_ sreafieo, P(A), P(B) wppid P(C) - snaiors?
} 5]

Siey

|

P(B)=2.P(A), P(C)=3 P(A) . P(Ar18)=%. P(Br\(‘)Zi. P(A'ﬁl."):%, P(A\.JB\;(")Z%, P(AABAC) = -

L=}

P(AUBULC) = P(A) + P(B) + P(C) — P(ArB) —P(BAC) — P(CHA) + P(A~BAC)

9 I S L

=5 —=P(A) + 2. P(A)+3.P(L) —————~ s

=7 (A) (A) (4) e
cP= - p@)- =gyl 1 : B L 11T
"P(A)_'d;{' ”P(B)_EIP(A)_EXE_E "P{C)—3-P(A)—3><;l§—]—6~

GO mHrenub cpern (peon aeorllubdngl. sflwnre Breaun SMOsET SE0E GDHIULFD G
b s S0is0dHE Brevn smesar deLlugharar Hobsseneud Hmes.

&iey S= {(HHH), (HHT), (HTH), (THH). (ITH), (THT), (HTT), (TTT)} .. n(S)=8 5
A eyl sflwune Buetory sememer A= {(HHT). (HTH), (THH)} n(A)=3 . P(A)= =

B gz geopbsulsd @G 4 B = ((HHT), (HTH), (THH), (TTH), (THT). (HTT). (TTT)} uB)=7 - pm);—g-
C g bsEGHE BUSUIG HOVBST  §(C)=3 . P(C) = -

. 3 _3 8 | P(AUBUC) = P(A) + P(B) + P(C) - P(ANB)
AnB = {(HHD). (HTH). (THE)) . ANB) =3 = MArB) = & i 0 5 s BN
BAC = {(HHT), (THH)} . u(BAC)=2 = PBAC)= L o g
2 & £ &
CrA= {(HHT), (THID} , n(CnA)=2 =P(CNA)= < R E s R E gy
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1
8000 wasaEsTems Oamst G Barsdlso, 1300 Gui 50 awdne GupulLaissT wpmip 3000 Gud
ouetrseT. Guogub 50 auwdng GuhulL eustorasr 307 o sTateny ereayd OSFlLAIBHADS. CahashdsLiLEHD
®@ HUil, Guetoretos sisbeg H0 auuFlnEe GuhHulLanns SEUuUsSHESNET HepssHmeus HTeis,
fie) A gyarg Queemins , B shargl 50 seuwdine GuopulLsurne
_ - _ e Y 2 -p{A):w pm):ﬂ P(AP\E):E
n(S) = 8000, n(A)=3000. n(B) = 1300 , n(AnB)= 100~ 3000=900 - 8000 3000° f 3000
3000+1300-900 3400 34 17
P(AuB)=P(A) +P(B)-P(AnB) = = = =—
( ) () +P@) -~ ) S000 8000 80 40
a@ wreausust Bndls Cagelsr symdleon wHmp sHIHe GCsisdl umeushHanar Mlapssesy 0.5, Qsmmigud
Baiédl semLwnod Bmuushanar Babsse 0.1 phdosd Gorailsd Gsisdl semLapnsnar Hepssey
075 wieofled, sflp Guisie: Gsiédl eumpEusHETET HSDSHSE] 6T60T6T?
§ie) pE~T)=05; PE~T) =01 &PE)=075
= P(EUT)=1-01 =09 &% a8
P(EUT) = P(E) +P(T)~P(ENT) =", 09 =0.75+P(1)-05 = PM)=09-025=065= 1 =&
[B6DT @& &EWED G Sibhd H?2 FLpasmend QamnedorL oL 1 el s gl sweumiiy Wwenpulie) Qb FLo sThdalLnSD g i)
flauly rrsmeuns sieeg sl Bunenflure @mlusherar Hebssanead Hners.
Siey n(S)=52 A geg feuln) FLp . B Syergs @unsneuns . C S$He0ig sy Sonevof]
4 13 26 = B - _B -1
Pd)=o - FB)=— i £C)=rN- BANC) = 5 + MANB) =17 BN =— » HANBNC) =5
B(AUBUC) = P(A) + P(B) + P(C) - P(AB) - P(BAC) - PICAA) + P(ARBAC) =+ 0428 1 13 2 1 28 _7
' ' o ) PCAAHRANBNO) =5t e e 5 s 52 2 sz 13
R Hepaeustor Lrsued S Ao BUILL (heiaTal. . :
k » 3% ik L 6 k sl suemevniuiled, £ qup Wemas woug.
' } efless aissé ameflunsng 160 ereofled. & -6
Z 1 1 1 1 1 wHllsmus STesus.
ﬁﬁml __]! r?i ,n,._.l_ i.l'r 1\ 3
g o 1 0 o 4 B (L2 (LAY [ 23 —5\‘? 1 30]
-—— — == ——— [=160 = k| ——|=| | =160 =k |4—=-|:=160
Al e L EJ sz.], 7 k7)) |*~%
3 I -1 j --I , 1
# |1 0 i | 0 = ﬂzpc—f]:.llin = F:EK_-M_ = k=49
% |1 I N RN L2 16
g |1 2 NEREN k=7
| 7 | -6 | 2|
QG ugeuedld » (r—5)=3 ) (z— 5)° =43, ohpib  elonds sTeyl ydeflsefldr ereiuenilbans 13 aenfls
ennarfl, HlLL elessdhemad &neis.
Siey @ ugeusiled » (z—5)=3 ) (z—5) =43 wpowb ewnss sgeal ydellseafldr eastoremnlisans 13
S Tr-35=3 | SI@-10c+25)=43 g groen 7229 o0,
18
STr-5T1=3 |- I¥ 10, Tx+2551=43 D -
5 . . *[523 8649 "
STe-5(18)=3 | > r-1003)12518)=43 1) L eflevbsb = J&-[Eq “ ’%_[2) e
_ Ty =93 oy Tyt 523 n n} 18 18
slwer 2 15, 2 Luym Symib 6 15 wHMIb 2 wirb 25 15 2_eoLw F £ _hemen suqeud srisiurensullsr 2 e whmib
esusfliynl LlySEEEE aufsond YWelubSng. b OILLl sulsndenss esnstors 10 & 5 e wguonsmed,
arslUTenS® @ UT6vuNd L& o1 Ssener eSl LT eufeoond Boemeu?
Eiey e wmb h= 2515 sqwsnt =215, e Lypaymb 7 = 615, Qauefiyp Hymb B =6 + 2 = 815 —
afusiunsnguier eusmetugly = 2 aefLbm 2 menearuiler euemeTuriy — 27 ( R + r)h g.si
srarBeay, arrisliunensullss susmeturiy — 2200 &.85 | 28 )
6 SOILLT suT6DOnD edsmiquwl ugiy = 10 g8 :’3
2201
aarGey, CoemariLph afemmd = 220 — 290 . =
10 =

ay8Ga, sghialurangds eufeord e 220 i eufevomd Gaemeutiuim..

Send Your Questions & Answer Keys to our email id - padasalaﬁﬁ@ﬂ&%ﬁ%oqamscanner


www.Padasalai.Net

www.Padasalai.Net www.TrbTnpsc.com

P
i &ydiflu wneomeu] msmen, sieuisafler 6 iy snpl uhGeul i 6 60 udsmisenst Hempey GFlig auHLIL sngleoTTd.
erl (b Woneuoreuieen wenpGw 32, 35, 37 30, 33, 36, 35. 37 udssmasedr LLGHEL Heone OFLSH HHHTT.
LnswTel] &6T Hleomey OFLWLNSL LEshasflar SiLelosssHenss SMers.
76y 60-32, 60-35, 60-37, 60-30, 60-33, 60-36, 60-35, 60-37, 60-37
nswreut @61 Mleomey OeLwnsl ubsieer =28, 25, 23, 30, 27. 24, 25, 23

x d=r-A i

- - ; - i (zdY
- ‘ ; Sl efleéso = e —(Z—)
2 _1 4 n n
24 -] |
25 0 0 = __(5)
25 0] 0 8 LS
27 2 4
Ji 7
28 E] 9 %:ls‘;ﬂ' =234
El] 5 25
Sd=5 d =47

10 eeflwg serfleor 2o dluib £{B|c_p DanbHS0UL(HsTer gyl xHwiisefldar alloss auisss srnafl whHnw FLr efloésn
snetors. T310, T200, 320, 280, 1300, T290, 320, I310, T280.

S r A= x—300 &
280 -20 400
280 20 400 5 2 2
290 -10 100 eleds aufdasé srnedl o = L [E‘f) 2000 _ {L) _2000_ 5555
200 10 100 n " 9 9
300 0 0 . g =
Sl efledsd =4/2222 =1491

310 0 100
310 10 100
320 20 100
320 20 400

= ~ Td-0 |Zd'-2000

RO &eu &genmo | oeooflés 1 wsmpwb, 2 weollés 2 tosmpub, 3 weflée 3 (Wemujd §?€Iﬂ selydns sraﬂs.).
&b mrafle subamigerib edsann) emo 5ell (s Gueuh Ligsnb srogib 6sdl sietorsoriléas: sa afls

S L eflendmin snaty s,

S| §Ub oroul msmIn 1 Gellbe | wsmpyh, 2 wesshés 2 Wwsamid, 3 weshae 3 Weopuyh &5 Tguyfing

&5 1pnefled SidsIgsID @b crelorevolldans =2 (1+2 3+ ... 12) - 2[1‘_:9] 156
\ -
|
S &ENTD a1l Q6 sratTeilbaasafien Sl L efleodbad = '»H"” l} - 2[\[ 14;‘;1] (1 _go
2 2 12

e n Bwe eretmaefledr symarl wHMIb efleods auisss sonafieciasd Sreos.

gy Yz 1‘(” *1) n+1

waed n Bwed eretmreafletr sonefl 7 = — = =
n 2 .;n' 2

e

Tz [(Za |

rf'Ln+1)(2n+l) n+ 1
Gx o B 2

Wsed n @wed ereturaaflenn slle0ss suis&®HE Famer] =

T

T

B Ilrn—l—!)[?n—l-l) n—f—l__.'-’i:—l

a G 2 12

0 s mbal wralL msafld cleuaGamn BLrsefléd euls wenpuier .Dmsuﬁmg: udley s’ o &Gl
QBN (HSBIUL(HETETE). bempwianay (15..5) T 50 55 60 &5 70

iy rtussariledt & e soo(ld stud 5 1 + 9 5 =+

&NbESIULLETeT WemieTelledr sTainh @ SlLL alle&sd snetors.

giey [t x| & [fd][/F] Zf=N=do, EM=-32 SLF=12 c=5
d=
ﬁ

s|s| =3 |9 [as]| as s Lfd® Efd 122 3"‘ V3856 x5 =520 _ .-
50 [ 13 2 | 4 | 2|5 B Va0 40 8
S|4 4 1| 4| 4
60| 9 0 0 0 0
65| 5 1 1 5 5
70| 4 2 4 § 16

40 32 | 122
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